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2

249.0

t-C02

317.3  t-CO2

269.9  t-C02

266.6  t-C02

€02

68.3 t-C02

20.9 t-C02

17.6  t-C02

27.4

8.4

7.1

C02

47.4  t-C0O2
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0.418kg-C02/kWh

2.210kg-C02/m ( 20
2.190kg-C02/m ( 20
t-CO; CO,
4001
i 317.3
350 6.8 2897 284.1
300" 249.0 -CO
250
57.3 -
2001 O
O
150 .
100
501
0™ 1990
1990 2008 2009 2010
2 249.0 t-C02 317.3  t-C02 282.7 t-C02 284.1 t-C02
C02 68.3 t-C02 33.7 t-C02 35.1 t-C02
27.4 13.5 14.1
C02 34.6 t-CO2 1.4 t-C02
10.9 0.5




2008

2009

2010

5,541,952  KkWh

5,183,304  kWh

5,093,034  kWh

0.418kg-C02/kWh

0.418kg-C02/kWh

0.418kg-C02/kWh

0.418kg-C02/kWh

0.384kg-C02/kWh

0.375kg-C02/kWh

231.7 t-C02 216.7 t-C02 212.9  t-C02
CO02 €)
231.7 t-C02 199.0 t-C02 191.0 t-C02
CO02 (b)
0 17.6  t-C02 21.9 t-C02
(b) @
2010 C02 t-C02 1.2
2008

17.6 t-C02 7.1




4,614km+ 10 /2
x 2.32 -C02/2 C02
1,070.448 -C02

0.8t-C02

4,614km+ 200km 1

x 30kwh 1

x 0.375 -C02/kwh C02

259.5375 -C02
810.9105 -CO2

0.8t-C02

O

CO2 99kg-C02/
11 8.8

95 -CO02 11,000

11,000 x 99kg-C02/
1,089,000kg-C02/

1,089,000kg-C02/ x 0.088
95,832 -C02/

3
15t-C02+7.14t-C02+85.3t-C02=107.44 -C02/




793

-C02

Co2
3 738,508kwh
3 Co2
738,508kwhx 0.057kg-CO2/kwh 2010
42.,094kg-C02
02
738,508kwhx 0.375kg-C02/kwh 2010
276,940kg-C02
3 Co2

276,940Kg-C02-42,094kg-C02=234 , 846kg-C02=234.8 -CO2

e}

56.6 - CO2 161.0 -CO2
43.6 -CO2 37.5
~C02 298.7 -CO2
EHP C02
487 .855kwh/ -454 .5kwh/ x 360 x
0.375kg-C02/kwh=4,502kg-C02
(HF LED )
€02
139,017kwh x

0.375kg-C02/kwh=52,131kg-C02
+ =4,502kg-C02+52,131kg-C02=56,633kg-C02=56. 6t-C02

584 ,226kwh -426,557kwh x 0.375kg-C02/kwh
+ 63,305 m -17,165 m x 2.21kg-C02/m
=161,095kg-C02=161.0t-C02

02

23,389kwh -14,544kwh x 0.375kg-C02/kwh

=3,316kg-C02
CO2

83,938kwh -64,183kwh x 0.375kg-C02/kwh

=7,408kg-C02
CO2
32,000 m -16,418 m x 2.11kg-C02/m

=32,878Kkg-C02
+ + =43,602kg-C02=43.6t-C02

5




274,081kg-C02 C02
-236,602kg-C02 C02
=37,479kg-C02=37.5t-C02
o
3,293,992kwh/ 2010 -3,979,430kwh/
2009 x 0.375kg-C02/kwh
=257,039kg-C02=257.0 -C02
o
o 0.5 -C02
o 2.0 -C02
234.8 -CO2 298.7t-C02 257.0 -CO2 0.5 -CO2 2.0 -CO2
=793 -C02

587

-C02

o 55 CO2

1 CO2
2 2
10.26kwh+436kwh x 643.69 kg-C02/kwh=287,253.09kg-C02
Co2 1 3702x 3 2,368kg-C02

5 6
16 x1 +24 x3 +32 x2 x 72.94kg-C02/
=11,086.88 kg-C02

1 1 1,539kg-C02
+ + 4+ 17 219,781.49kg-C02

13 97
766.8HP 97 HP x 259.31kg-C02/HP=198,838.9kg-C02
1 LED 117

9,942 _.59kg-C02

3,000kg-C02

8,000kg-C02
37

€02

LED 6 1,396 64,082.11kg-C02

1 1 1,549kg-C02

287,253.09kg-C02+2,368kg-C02+11,086.88 kg-C02+1,539kg-C02
+219,781.49kg-C02+64,082.11kg-C02+1,549kg-C02
=587,659.57kg-C02




(061

SF CO2 = 6,500t-C02/
4,000t-C02
= 10,500t-C02/
€02 ( =4,000t-C02/
O
6,474kwhx 0.375kg-CO2/kwh 2010 Co2
2.,427kg-C02
(@]
2,521.03x 0.375kg-CO2/kwh 2010 Co2
12 -C02
945kg-C02
O
24.,919kwhx 0.375kg-C02/kwh 2010 C02
9,344kg-C02
2,427kg-C02  945kg-CO2 9,344kg-C02=12,716kg-C02
o 9 10
8.4 -CO2 H23 2 25
101 -CO2+ 12 8.4t-C02
(@]
(2010.4.1 2011.3.31)...45,134  kwh
16,925 ...0 Kkg-C02/kwh
~C02 2010 ...0.375 kg-C02/kwh

45,134  kwhx 0.375 kg-CO2/kwh 16,925t-C02

e}

C02 69.8kg-C02
2.5t-C02
23 3 C02 430( )x 69.8 kg-CO2 =+ 12( )
2,501 -C02
22,422 .9t
-C02
o 62 C02
1 C02
60 -CO2 3 3

1.11kwh +1.52kwh +2.28kwh x 462.15kg-C02/kwh
=2,269.15kg-C02
Co2 2 2




150+3702 x 1.99kg-C02/0=1,034.8kg-C02
56 58
8 x3 +48.2 x3 +16 x8 +20 x23 +24 x21
x 48.63kg-C02/ =55,467.37 Kg-C02

1 1 1,539kg-C02
2,269.15kg-C02+1,034.8kg-C02+55,467.37 kg-CO2+
1,539kg-C02=60,310.32kg-C02

60

-C02

0.8t-C02

22,422 .9t-C02

60 -CO2

22,483.7t-C02

22 10

22
23

2.2 t-C02

23 C02




